A nitrogen gas from a 24.0 L container with the pressure of 2atm and an oxygen gas from a 12.0
L with a pressure of 2atm and 273K were mixed together in a 10.0 L container. what are the
partial pressure exerted by each gas in the mixture and what is the total pressure? use ideal gas
formula and mole fraction.

Solution:

| =

, V n/&R,T =5
.[.70!"”1' ﬂ\&' j&m«fw oL

= 05 F/d. arns =
0,082 '{—————WOQ‘ b)ii?ﬁlc

LatM Y 4. 0l < 4074
S ”2‘757(6 """") 273k reole
reoles

ofof'Og,:

A wdy bure of ideal ?M&f /s fomuu{ adder w,,,ﬁ
ol Wy and Oy :

par al predew /€ -
;:.1&@/> ‘ ;z,/;uaweu sHL- wﬁ'f~t);,
[2 a -

20 L

v 27 3K= "1, 801 alm

reles £
4,0 F4 rewtes - 0, ogz05% (¢ atr )X

F”‘?*—‘) - S0.0 L
¥ JFIK= . 35@0&‘4

' Pue o Dalion's ko
Pratat = Pi (03) + pi (0)= 7,2 atrn

swer P: (i) = =4 304 atu
Fc@)’—‘ 2393 41

Answer provided by www.AssignmentExpert.com



